Which of the following countries is not located in the continent of Africa 7

—_ ¢) Guinea s
(a) Gabon (b) Guyana “ (d) Guinea-Bissau
: i Id is :
mountain range in the wor
2. Longest surface T . (b) Rokies mountain ra
(a) Alpus mountain range : ‘N range
(¢) Himalaya mountain range (d)  Andies mountain range
] ing hill resent where Eastern Ghats and w : 9
3. Which of the following hills are p , and Western Ghats meet
(2 Nilgirihills (b) Cardamom hills (c)  Annamalai hills (d) ~ Sahyadri hills
4. Which of the following oceanic current does not flow in North Atlantic ocean 7
(a) GuifStream (b) Banguela (c) Norwegian (d) Florida s
§.  The second largest Island of the world is : | +
(a) Bomeo (b) Madagaskar  (¢) NewGuinea  (d) Symatra
6.  Which one of the following pairs is not correctly matched ?
(a) Foehn— Alps Mountain (b) Bora— Siberia
(c) Mistral — Rhone Valley (d) Khamsin - Egypt
7.  Which one of the following rivers is the second longest river of the world ?
(a) Nile (b) Amazon
(¢) Mississippi - Missouri (d) Yangtze
8.  Which of the following is not an example of Metamorphic rock ?
(a) Quartzitt  (b) Marble (c) Gneiss (d) Dolomite
9. Which plateau lies between the Aravali and the Vindhya ranges ?
(a) Malwa (b) Chhota Nagpur (c) Deccan (d) Bundelkhand
10.  Which country is called “Bow] of Sugar” in the world ?
(a) India (b) Cuba (c) China (d) Pakistan
11. Out of the following rivers which is not the tributary of river Sutlej ? ﬁ
(a) Baspa (b) Spiti (¢) Ravi (d) Beas
12. Who made the following statement — ‘Vegetation is the true index of climate.” ?
(a) Koppen (b) Stamp (¢c) Thornthwait (d) Koteshwaram
13, Which of the following layer is not included in Homosphere ?
(a) lonosphere (b) Troposphere (c) Mesosphere (d)  Stratosphere
__! e A e e e e —— e T T S S —— . —— — o — o — —— T
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14. Kodarma is famous for which mineral 7

(a) lron-Ore (b) Mica (c) Gypsum (d) Bauxite

15. Pittsbutghuflndiaisu o i o ol
() Bhagalpur  (b) Varanasi (c) Sindri (d) Jamshedp

Dam i8 gituated 7
(c) Cane (d)

16. In which river Mata Tila
Betwa

(a) Narmada (b) Son

. : i
cline does not have which of the following gas pumping station

17, HV) Natural as pip
: (c) Babrala (d) Guna

(a) Aonla (b) Auraiya

ghest sex-ratio in 20117

18. Which of the following states has the hi
(¢) Tamil Nadu

(a) Karnataka (b) Goa (d) Andhra pradesh

19. Which of the following Island is not a part of Laccadive island ?

(a) Tilanchong (b) Agathi (c) Kavaratti (d) Kalpeni
20. Koppen has used which of the following words for the climate of Great Plains of India ?
(a) Amw (b) As (c) Cwg (d) Aw

71. How many districts of Uttarakhand are linked with the international boundaries ?
@ 03 (b) 04 (c) 05 (d) 06

22. Which districts of Uttarakhand state recorded negati i i
gative population gr wth d -
2011 as per Census of India, 2011 7 B - b

(a) Tehri-Garhwal and Bageshwar (b) Pauri Garhwal and Almora

(¢) Uttarkashi and Champawat (d) Chamoli and Rudraprayag
®xE

23. ‘Govind National Park’ includes :
(a) Source regihon of Bhagirathi river (b) Source region of Bhilangna riv
(¢) Source region of Yamuna river (d) Source region of Tons river -

24, Which one of the following places is not associated with SIDCUL ?
(a) Roorkee (b) Selaqui © Sitarga .m} -
war

28, ‘Khair (Catechu) is a tree of which type of forest 7

:E:; gu:?lpiﬂﬁ I:t::rests (b) Cool-Temperate Forests
ub-Tropical Forests (d) Tem =

——————————— t
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26. 1fa Panchayat is dissolved, elections are to be held within ___ month(s).

(

a) One (b) Three (c) Six (d) Nine

17, Which one of the following schedules of the Constitution of India, contains provisions

regarding Anti-defection Act 1
1;}[ 4“‘gﬁchcdu\c (b) 6" Schedule () gt Schedule (d) 10™ Schedule

blic Account Committee ?
28, How many members are elected from the Lok Sahh;i for Public Ac Fd} zgmm‘““
@ 07 (b) 10 ON
i . & " l"l
29. The Congress declared complete Independence for .india as g“s g‘i};l Ia; ;vghmh session !
(a) Lahore Session 1929 (b) (,alcutti; 'I:SSLO
() Allahabad Session 1930 (d) Noneotlmesdove
30. When the Hindi version of National Anthem Jana-Gana-Mana was adopted by the
Constituent Assembly of India ?
(a) 26 November, 1949 (b) 24 January, 1950
31. Among the following who was the first President of Human Rights Commission of India ?
(a) Justice M.N. Venkatchaillaiya (b) Justice J.S. Verma
(¢) Justice K. Rama Swami (d) Justice Rangnath Mishra
32. Who among the following was the first Lieutenent Governor of newly created Union
Territory of Jammu & Kashmir ?
(a) Radha Krishan Mathur (b) Girish Chandra Murmu
(¢) Manoj Sinha (d) Satyapal Malik
33. To whom the Chief of Defense Staff (CDS) is military advisor on Tri-services matters ?
(a) President of India (b) Prime Minister of India
(¢) Defence Minister of India (d) Home Minister of India
34. In which year the International Labour Organisaton was established ?
(a) 1919 (b) 1920 (c) 1921 (d) 1922
35. Right to Property belongs to which category amongst the following ?
(a) LegalRight (b) Fundamental Right
(¢) Natural Right (d) Human Right
36. - Who among the following chairs the Zonal Council ?
(a) Prime Minister of India
(b) Home Minister of India
(c) Chief Ministers of the zones in rotations
(d) Finance Minister of India
SeriesA B S
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37.  Match the List-l with List-11 and select the correct answer using the code g
given below the

o lists :
- List-1 List-11
(Name of States)  (Seats in Rajya Sabha)
A. Jharkhand (" 07
B. Uttarakhand 2 08
C.  Chhattisgarh 3. 03
D. Punjab 4 06
Codes :
= A B C D
@ 2 4 | 3
(b) 1 2 3 4
(c) 3 1 4 2
@4 3 2 |

In which year, the SAARC Summit, for the first time was held in India 7 ﬁ
(a) 1986 (b) 1995 (c) 2007 (d) None of these

ng Constitutional Amendments is related to the formation of the

for Backward Classes in India ?
The 101% Constitutional Amendment

None of these

39, Which of the followi
National Commission
(a) The 100° Constitutional Amendment (b)

(c) The 102™ Constitutional Amendment (d)

40. What is the tenure of a member of State Legislative Council ?

(a) 5 years (b) 6 years (¢) 7 years (d) 4 years

41. Who was the Prime Minister of India when the basic principle of India's Nuclear Doctrine

of ‘No First Use’ was adopted ?

(a) LK. Gujaral
(¢) Manmohan Singh (d)

(b) Atal Bihari Vajpayee
Indira Gandhi

42. On which of the following dates the ‘Civil Services Day’ is celebrated in India ?
(a) July 2l (b) June 21 (c) May2l (d) April 21

43. In which year the Central Information Commission was established ? m
2008

(a) 2005 (b) 2006 (¢) 2007 (d)
44. In which year ‘The Air (Prevention And Control of Pollution) Act Was enacted 7

(a) 1980 (b) 1974 (c) 1981 (d) 1986
- ™
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45. Inwhich year the number of women member of parliament was the lowest in Lok Sabha 9

(a) 1952 (b) 1967 (¢) 1977 (d) 1989

46. Who among the following has the right to participate in the parliamentary .Pfﬂccedingu ?
(a) Attorney General of India (b) Solicitor General of India
(¢) Chief Justice of India (d) None of these

47. The Uttaranchal (Change of Name) Act, came into existence in which of the following
years 7
(a) 2000 (b) 2003 (c) 2006 (d) None of these

Uttarakhand came into existence on which of the following dates ?

48. The State of
9-11-2001 (c) 11-11-2001 (d) 5-11-2001

(a) 9-11-2000 (b)
Chief Minister of Uttarakhand, who declared in the
Legislative Assembly that Gairsain would be the summer capital of Uttarakhand ?

(a) Trivendra Singh Rawat (b) Tirath Singh Rawat
(¢) Harish Rawat (d) Puskhar Singh Dhami

49. Who among the following was the

50. Which one of the following commissioners of colonial Kumaon and Garhwal introduce the
‘Revenue Police’ system ?
(a) George William Traill (b) Lt Col. Gardiner
(¢) Sir Henry Ramsay (d) Daniel Ibbotson

51. How many Lok Sabha members are elected from Uttarakhand ?

(@ 7 (b 5 () 3 (d 8
52.  Tobin Tax’ is levied on :
(a) ol bodies creating externalities (b) on the basis of weight
(c) on foreign exchange transactions (d) on the basis of value
53. Who regulates the market of Agricultural Products in India ? |

(a) Essential Commodities Act, 1955

(b) Agricultural Produce Market Committee Act enacted by States
(c) Agricultural Produce (Grading and Marketing) Act, 1937
(d) Food Products Order, 1956

54. Which of the following statement is not correct about ‘National Development Council’ ?
(a) It includes Chief Ministers of all states, =

(b) It is a non-constitutional body.
(c) It is a statutory body. m
(d) It should meet at least twice in a year.
— _-_...—---'--—--——ﬁ]--..__.._..,.,____,____,__________*________________'_r___..--'
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58.

56.

58.

59.

61.

62.

63.

inclusive growth strategy 7
ing W £ 11" five year plan inc or |
SRRSO p) Extension of employment opportunity

Which of the fo
strengthening of capital market

(a) Reduction in Poverty . i
(¢) Reduction in gender inequality (

Which one is correct about IMF ?

(a) It grants loan t0 any country. _ |
(b) It grants loan to only developing cuuptrlea. m
nember countries.

(¢c) It grants loan {0 only 1
(d) It grants loan to the Central Bank of a country

The rise in value of one currency relative to another s ~ o
(a) A weakening of a currency (b) A depreciation of a currency
(d) A debasement of a currency

(c) An appreciation of a currency

Which of the following statement is correct 7
(a) Inflation benefits the bond holders.

(b) Inflation benefits the debtors.

(c) Inflation benefits the fixed income groups.
(d) None of these

Which of the following changes have taken place in Indian Economy after Economic

Reforms in 1991 7
(a) Share of agriculture in GDP has increased enormously.

(b) FDI inflows have increased.
(c) Foreign exchange reserve has increased.
(d) Both (b) and (c)

Sweat Equity shares are issued to which of the following ?
(a) Ordinary Shareholders (b) Preference Shareholders
(c) Both (a)and (b) (d) Employees of the company

«“National Food Security Mission™ was launched to increase the production of which
commodity/commodities ?
(a) Wheat (b) Rice (c) Pulses (d) All of these

What kind of Tax System is found in India ?

(a) Progressive (b) Degressive (¢) Proportional (d) Regressive
Which of the following plan is called “Rolling Plan™ ?
(a) Third Plan  (b) Fifth Plan (c) Sixth Plan (d) Eighth Plan

Which of the following statement is correct ?

(a) NNP = GNP - Depreciation M
(b) NNP=GDP + Net Income from abroad — Depreciation
(c) Both (a) and (b) are correct
(d) None of these
““““““““““““““““““““ 12 S S e




65.

66.

67.

68.

69.

70.

s

72.

73

74.

Which of the following is not an example of foreign direct investment ?

(a) The acquisition of existing textile mill overseas

(b) The creation of a wholly owned business firm overseas

(¢) The purchase of bonds or stocks issued by Pharma Company overseas
(d) The construction of a new steel plant overseas

The World Trade Organisation (WTO) is sometimes criticised for all of the following
reasons except that :

(a) it has no way to solve trade disputes among member nations. mim

(b) it is puppet of multinational corporations. %

(c) it reduces the sovereignity of member countries. ;

(d) it favours free trade over the quality of products.

If Primary deficit is zero, then the amount of borrowing will be :
(a) more than interest payment (b) less than interest payment
(c) justequal to the interest payment (d) None of these

Gender Inequality Index (GII) was introduced in which Human Development Report
(HDR) of UNDP ? !
(a) HDR 2007 (b) HDR 2008 (c) HDR 2009 (d) HDR 2010 '

What is the Human Development Index (HDI) rank of India in the Human Development
Report 2020 of UNDP ?

(a) 128 (b) 129 (c) 130 (d) 131

In which of the following year, the latest classification of MSME was done ?
(a) 2012 (b) 2014 (c) 2018 (d) 2020

Which of the following are called gilt edged securities 2 -
(a) Shares of Public Limited Companies

(b) Government Securities

(c) Shares of Private Limited Companies

(d) Stocks of Mutual Funds

Multilateral Investment Guarantee Agency (MIGA) is related to :

(a) World Bank Group

(b) International Monetary Fund (IMF) =
(c) International Finance Corporation (IFC)
(d) International Development Association (IDA)

Which of the following taxes are abolished by the Goods and Services Tax 2

(a) Property Tax (b) Corporation Tax
(c) Value Added Tax (d) Income Tax

Which one of the following organisations is not located in Uttarakhand ?
@ CBRL (b)) ONGC. (0 HAL d)

S_ﬂ'iﬂ-zi— M T r——————



75. In which year VAT was introduced in Uttarakhand ?
2012 (d) 2005

(a) 2007 (b)y 2010 (c)
ea Development Programme was carried out

In how many hill districts of Uttarakhand, T

76.
during the year 2020-2021 7
(a) 10 by 9 (c) 8 (d) 7
79.  Which among the following banks have the lawest number of branches in Uttarakhand in
the year 2020-2021 7 =
(a) Nationalised Banks (b) ‘'Regional Banks
(¢) Private Banks (d) District Co-operative Banks
78.  Who is known as father of Genetics 7
(a) Hargobind Khurana (b) Thomas Hunt Morgan
(d) Johann Gregor Mendel

(¢) Robert Brown

79, What are ‘Ramsar Sites” 7
Monuments of International Importance

(a)

(b) Mountains of International Importance
(¢) Wetlands of International Importance
(d) Volcanoes of International Importance

80. In the year 2021, the Nobel Prize in Chemistry was awarded to :
(a) Syukuro Manabe, K laus Hasselmann & Giorgio Parisi

(b) David Julius & Ardem Patapoutian
(¢) Benjamin List & David MacMillan

(d) Abdulrazak Gurnah
In the year 2021 where was the 26™ United Nations Climate Change Conference COP-2

?’. iheld ?
ué'[a) New York (b} Tokyo (¢c) Glasgow

WWEF (World Wide Fund for Nature) is :
(d) Indian Wild Ass

(d) Beijing

The logo of International Organisation —

(a) Asiatic Lion (b) Giant Panda (¢)

83. At present, the highest civilian award of the ‘Republic of India” is —

(a) Padma Vibhushan (b) Padma Bhusan
(d) Bharat Ratna

1
]
82.
Musk Deer

(¢c) Padma Shri
84. Remote Sensing uses which of the following in its appl ications 7 oTL)
Ta) Eleciric waves (b) Sonar waves
(¢) Gamma rays (d) Electromagnetic waves
85. Jhoom 1s:
(a) A type of folk dance (b) Name of a river
(d) A type of agriculture (cultivation)

(c) A tribe in the North-East

The substance which has a large number of free electrons and offer a low resistance 1s

86.

called :
,__._iéj__.iislia_t.o: _lb_) [nductor (¢) Conductor (d) Semi-conductor
Series-A Gl --.E_.______...__. e e S )
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87, :";’l‘m 1:‘.th..i~a s Ilhj:tl:;m”{h:;ﬂztr( . (¢) Vacuum (d) None of the
] AT
. ers of the soil” ?
#8. Which among the following animal 18 called ‘t.!‘ !I-:,rI(L:-mEth i ??} None of the.
. (a) Earthworm  (b) Snake (c) B ' ' ey
, e deficienc »f which vitamin ?
89. Scurvy diseasc 18 caused by the deficiency ¢ : g e : .
(a:;' }:\Muu:lm A (b) Vitamin By (o) Vimind @) Visgind
) . d _— .:-
90 l'he sperms used for artificial insemination ufl n;ulll;;uni s:nrt, n: ﬁ
: s (b ry ice
[ L | nitrogen o g ;
i:: [ I,:z::_l :,wlgi,. (d) Liquid ammonia
' . ' 1. ¢ ? f
91. To which of the following chemical groups - Cellulose 'bclnng.s :
(a) Carbohydrates (b) Frowems
(¢) Lipids (d) Nucleic acids
92. Two bacteria found to be very useful in genetic CngiHCEri_ng.’ﬁxperliments are L
(a) Nitrosomonas and Kliebsiella (b) ES;hETIFlila coli and Agrobacterium
(¢) Nitrobacter and Azotobacter (d) Rhizobium and Diplococcus
93. A transition zone between two biological communities is referred to as : |
(a) Ecosystem (b) Ecotone (¢) Ecad (d) Eco-barrier
94. If any one input is HIGH (or 1), and output is also HIGH (or 1), such Gate is :
(a) OR Gate (b) AND Gate (¢c) NOT Gate (d) NOR Gate
EZE
95, The m;:put C of given logic circuit is *ﬁ
Y
G
5>
I
(@) 0 (b) 1 € A (d B
96. IP. addresses are used on which layer of QS| reference model ?
(a) }\Ictwork Layer (b) Application Layer
(c) Transport Layer (d) Datalink Layer
97. Which of the following is primary memory in Computer System ?
'F: 12 . .
a) HardDisk (b) CompactDisk (¢) RAM (d) Pen Drive
98. Which of the following is function of Control Unit in CPU ?
fif} Decode Program Instruction (b) Perform Logical Operations
(¢)  Stores Programme (d) None of these
Serles-A S TR — o e
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99. Who initiated the ‘Maiti Movement’ in Uttarakhand ?

(a) Sundar Lal Bahuguna (b) Chandi Prasad Bhatt m
(¢) Kalyan Singh Rawat (d) Medha Patkar
100. At which place in Uttarakhand did the Indian Meteorological Department install a py,,,
Weather Radar ? PPle
(a) Dehradun  (b) Chakrata (¢) Mukteshwar  (d) Chamol
101, In which year the Forest Research Institute was established in India ?
(a) 1896 (b) 1906 (c) 1910 (d) 1950
102. Kedarnath Wildlife Sanctuary has been established for the conservation of which animal -
(a) Himalayan Musk Deer (b)  Elephant
(¢c) Snow Leopard (d) Monal

103. Which of the following is a state tree of Uttarakhand ?
(a) Sal (b) Teak (c) Buransh (d) Brahma Kamal

104. Who among the following was awarded Nobel Peace Prize — 2021 ?
(a) Maria Ressa and Dmitry Muratov  (b)  Benjamin List and David MacMillan

(¢) World Food Programme (d) Abiy Ahmed
105. Who is the first Indian woman to scale Mt. Annapurna ?
(a) Arunima Sinha (b) Privanka Mohite
(c) Shivangi Pathak (d)  Anita Devi
106. In which year India’s highest Civilian Honour ‘Bharat Ratna’ was awarded to Late Lata
Mangeshkar ?
(a) 2001 (b) 1998 (c) 2009 (d) 1996

107. ‘Mitali Express’, a new passenger train, which was inaugurated recently, connects Dhaka
with which Indian city ?

(a) Kolkata (b) New Jalpaiguri (c¢) Guwahati (d) Gangtok
108. “The World Beneath His Feet” is the biography of whom of the following ?
(a) Pullela Gopichand (b) Saina Nehwal
(c) Nawab Pataudi (d) Sachin Tendulkar
109. Which Indian documentary was nominated for the Oscars — 2022 7
(a) House of Secrets (b) Searching for Sheela ﬁ
(c) My Name is Salt (d) Writing with Fire

110. Which Indian state has launched the Student Startup and Innovation Policy (SSIP) 2.0 in
January 2022 7

(a) Andhra Pradesh (b) Kerala
(¢c) Gujarat (d) Haryana
. T



h-East Frontier Railway to keep wild elephants

111. Name the unique strategy adopted by Nort
away from railway tracks.
Plan Tea (d) Plan SweeP

(a) PlanFlee  (b) PlanBee (c)

112. Who won World Rapid Chess 2021 ?
(a) Nodirbek Abdusattorov
(¢) Ding Liren

(b) Magnus Carlsen
(d) Hikaru Nakamura

e

113. When is the ‘World Ozone Day' celebrated ?
(b) 21* April

(@) 25" December
(d) 30" January

(c) 16" September
114. Which of the following newspapers won ‘Pulitzer Prize 2021’ in prestigious public service
category ?
(a) The Wall Street Journal
(¢) The Washington Post

(b) The New York Times
(d) New York Post

115. Which of the following is not rightly matched ?

Name of Player Medals Won in Tokyo Olympics 2020
(a) P.V.Sindhu — Bronze Medal
(b) Bajrang Punia —  Silver Medal
(c) Meerabai Chanu - Silver Medal

Gold Medal

(d) Neeraj Chopra

116. Major Dhyan Chand Sports University is being established at which place in India ?
(a) Meerut (b) Agra (¢) Noida (d) Kanpur

117. In December 2020, the Home Ministry declared which of the following states ‘Disturbed
Area’ for six months under Armed Forces Special Powers Act, 1938 ?

(a) Jharkhand (b) Nagaland (c) WestBengal  (d) Punjab %

118. Which of the following railway stations of India has been recently developed wig, S
amenities like the airport with Public Private Partnership 7 €m
{a) New Delhi (b) Rani Kamlapati Station, Bhopg)

(c) Pune (d) Chhatrapati Shivaji Teminus,M

——
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119. Match the List-1 with List-1]
and their CEO and choose

120,

12},

List-1
(Company)

A, Google

B.  Microsofi

C.  Twitter

D.  Adobe
Codes :

A B 8

(a) 1 3 4
(b) 2 | 3
(c) 1 2 4
(d) 4 3 2

Where did the Prime Minister Sri Narendra Modi
airport in Asia in November 2021 ?

— e o

the

B ol P —

regarding world's top Inforn
correct answer from

List-11

1ation Te, hne
the codes below

logy Companies

(CEO) %

Satya Nadela
Sunder Pichai
Parag Agarwal
Shantanu Narayan

(a) Noida International Airport at Jewar

(b)  Kushinagar Airport

(¢) Delhi Airport
(d) Kempegowda International Airport in Bengaluru

The famous ‘Gangasagar Mela’ is held in which of the following states of India ?

(a) Gujarat

122. Which of the following films won Golden Globe Award-2022 for Best

(Drama) ?
(a) Dune
(¢) King Richard

(b)

123. Match the following :

Dance
A.  Bharatanatyam
B. Kathak

C.  Kuchipudi
D. Mohiniattam
Codes :

A

(a) 1
(b) 2
(c) 2
(d) 4

$-A

West

Bowo

Bengal (¢) Andhra Pradesh (d)

(b) The Power of the Dog
(d) The Lost Daughter

State
Uttar Pradesh
Tamil Nadu
Kerala
Andhra Pradesh

lay the foundation stone of the largest

Rajasthan

Motion Picture

e



oy : oz 2 , which Vedic god ?
e largest hymns of Rigveda is dedicated to W ;
124. {-T,})“ 'jifn"'; AN Tndes (¢c) Varuna (d) Adity?

125. In which of the following place the first Jain Council was held 7 _ -
(a) Patliputra (b}  Vaishali (c) Mathura (d) Uya

126. Which among the following play was written by i-laraiuwardhan ? 4@
(a) Harshacharita (b) Kadambari @%
(¢)  Devichandraguptam (d) Privadarshika

: : . < 9
127. Which of the following dynasty is associated with the female king Rudrma DeV! *

(a) Eastern Ganga (b) Hoyasala
(c) Kakatiya (d) Western Chalukya

128. The author of ‘Lilavati', Bhaskar-11"¢ was —

(a) Physician (b) Mathematician (c) - Musician (d) Sculptor
129. The religious text which explains about the eight different phases of agriculture works
(a) Avdanashataka (b)  Aryamanjushrimulakalpa
(c) Milindapanho {£d) Deepavansa
130. What was the ratio of Gold-Silver coins in the Shaka-Kshtrapa period ?
(a) 1:20 (h) “1:25 (¢) 1:35 d 1:10
131. Gadhaiyawasa .
(a) Coin (b) Land Tax (¢) Trade Tax (d) Military Officer
=] 28
132. Udiyanjiral belongs to which dynasty 7 A @
(a) Chera dynasty (b) Pandyas dynasty ”
(c) Chola dynasty (d) Satavahana dynasty
133. Which among the following Rashtrakuta ruler built the Kailas temple of Ellora ?
(a) Govind-1md (b) Amoghavarsha (c) Indra-IIT™ (d) Krishna-Ist
134. In Mauryan period ‘Pranayam’ was —
(2) Emergency Tax (b) Love Marriage
(c¢) Land Grant (d) Land Tax
135. Whic]i]jimong the tblII;)wing Rgshtrak:jta King defeated Pratdihara ruler Nagabhatta-{j 7
(a) ruva (b)  Govind-III (¢) Indra-II* (d)  Krishna-yyrd
136. Who was known as ‘Hazar-Dinari’ ?
(a) Balban | (b) Malik Kafur
(c) Sikandar Lodi (d)  Qutubuddin Aibak
137, W.ho among Fhe following was not the rivals of Iltutmish ?
ff; :\T.’“dfj”_] Yeldoz (b) Nasiruddin Kubachg
. ““_l_M_-.l_ﬂ'ldﬂ (d) Malik Altun;
Series-A e Eb_ ——————— =




: = SEpE—— ‘-:__12: dev .Lalrpr.r_-ri ft'.-l'lﬂ[' the time Fy
e Sl (c) Krishnaattam (d) PBhara
. v aleehaoaas - ) har
]IS W Y aks) i
1 . s
¢ ‘Khazain-ul tuh' 7
- ! i -- : il cl .~1":' u iraj 1 (J 1 in Barnl
L a3 A K rau
1e1 f *Nurjahan's J L
4 d-da h) MAS53 P_.’ 1 EM
i ol (d) Khurran
\ahabat Kl
[ af Cabinet Mice ;e
141, Wh  the “ ' W v mem b f Cabinel Mission
s . (b) lohn Simon
ithik Lawrence ) ; :
(a) 17 Staftord Crine
¢ L. V. Alexander ir statord Cripp
s 1 nancial Decentralisation’ in India 7
142, Wik aUCT ANC _}t,_"- alls: I !
d Rippon (b) Lord Dalhousie
> ( es Metcaf (d) Lord Mavo
i I i 1 -—n !
143. During which mo aram and Kheemdev were martyred °
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